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=K 4 i EE|HERK| —RERH| HEEE | HEE2/12[ HEEE] —fis | B | —REHE|HEES|SRE2/12| BesY| —MREH [ s
IR A 280 14 19 0 19 1.36 +0 266 307 -3 304 +5 309 1.16
RSR[5 240 24 50 0 50 208 +0 216 244 5 249 +26 275 1.27
B L5 80 40 22 0 22 0.55 +18 58 44 0 44 +0 44 0.76
ER LY 40 20 12 2 14 0.70 +6 28 42 -3 39 +0 39 1.39
ST ¥ A T2 40 20 6 0 6 0.30 +14 34 21 0 21 +0 21 0.62
+AREE TS| 40 20 12 0 12 0.60 +8 28 32 -2 30 +0 30 1.07
BT 40 20 10 0 10 0.50 +10 30 50 0 50 +0 50 1.67
T AAEE) 40 10 3 0 3 0.30 +7 37 23 -1 22 +0 22 0.59
RIASES VRAEE Y A 80 20 9 0 9 0.45 +11 71 56 0 56 +0 56 0.79
Y ATA 40 10 7 0 7 0.70 +3 33 30 0 30 +0 30 0.91
WhXREIRETER 200 50 37 1 38 0.76 +12 163 156 -3 153 +0 153 0.94
INPES acabe] 200 40 46 0 46 1.15 +0 160 184 1 185 +6 191 1.19
AR fLplin 240 48 32 -1 31 0.65 +17 208 202 2 204 +0 204 0.98
1 40 16 1 0 1 0.06 +15 39 28 1 29 +0 29 0.74
(e 40 16 3 0 3 0.19 +13 37 13 0 13 +0 13 0.35
N B HEVE 20 8 7 0 7 0.88 +1 13 14 0 14 +0 14 1.08
8 THHEE 20 8 5 0 5 0.63 +3 15 12 2 14 +0 14 0.93
ALY ATA 40 16 3 1 4 0.25 +12 37 46 -1 45 +0 45 1.22
e T 40 16 7 0 7 0.44 +9 33 21 -1 20 +0 20 0.61
£ 5L 40 12 13 0 13 1.08 +0 28 28 1 29 +1 30 1.07
A EES 40 12 15 -1 14 1.17 +0 28 38 -1 37 +2 39 1.39
TR fE A 40 12 2 0 2 0.17 +10 38 30 1 31 +0 31 0.82
LR 40 12 17 0 17 1.42 +0 28 25 1 26 +5 31 111
VIER A 80 4 1 0 1 0.25 +3 79 37 0 37 +0 37 0.47
(A 40 2 4 0 4 2.00 +0 38 37 0 37 +2 39 1.03
kT e 40 2 6 0 6 3.00 +0 38 49 -4 45 +4 49 1.29
RS 40 2 5 0 5 2.50 +0 38 46 -2 44 +3 47 1.24
T ¥k 40 2 3 0 3 1.50 +0 38 29 4 33 +1 34 0.89
e fLB 80 32 8 0 8 0.25 +24 72 55 1 56 +0 56 0.78
= 35 80 8 0 0 0 0.00 +38 80 33 0 33 +0 33 0.41
s o 80 24 p) 0 p) 0.08 +22 78 34 0 34 +0 34 0.44




